googodotdbotobtobobouououbooboon
googogd

2003MT034 00 OO
oooo

1 0000

000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
000000000000000000 [1)2)[4)0
00000000000 PathTester[4 000000
000000000000000000000000
0000000000000003000000000
0000000000000000000000000
0000000000000000000000000
000D00D000000D0ONTPOOODOOOODO
00000000000
000000000000000000000000
000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
00000000000000
000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
00000000000000
000000000000000000000000
000000000000

2 PathTester O OO

00000000 0000o00o0oO0oO PathTester
gooooooooobo
21 0DO0OOOOOOOO

ooooo0oDooo0O0O0O000o0 (bo)oDooooo
gooooooooooooooooooboOoobooooo
gooboooooooooboooooobooOoooboooo
000000000 PathTester 0000000000
00000000 (0D 1)0Dooooooo

ooboobooooooobooboobooboooog
oooooo 1k0000000o0o0o00oooooo

2003MT059 0 O OO

oo oo

ooooooo00 140000000000000O0O
oooooooooooooooobooobooooooo
gobooobooooooood
oboooboooboooooooobooobooooo
gbobooobooooooooooooooooooon
gbobooooboooooooooboooboooooooo
oooooooooooooooobobooooooon
Ooo0o0ooO0o0o0ooO0o00oo0o000ooo 200
gobooobooobooooooooo
uobodooboooboooooooobooobooooo
gbobooobooooooooooooooooooon
gobooobooooooo

e

]\.
Total H
10k octe

Bs=Br

[ o

f Bs=Br
but

]

Time Time

—od

01 00oooooooo

22 0DO0OO0OOOOOOOO
00 PathTester 000 0000000000000
ooboooooooooo
ooooooooooooooooboooooooo
gobooooboooooooooooooboogon
oooooooooo200000000000000
gobooooooo
gooooooboooobbooooboboooboooo
goboooboooooooooooooooobooboon
ooooooooooooooobooboooooooo
goooooboooboooooooooooooooon
gooood
goboooboooobooooooooobooooo
0000000000000 0000000100kbps O
O0DoOoOoOoOoOO0 100MbpsDOOOOOOOOODODO
oooooooooooooooooboboooooon
gobbooobooooooooooobooooobo

3 00 PathTester DO O OODODODODODO

0000000 PathTester 00000000000
oooooooooooooo 2000004

() bobOooDOO0DODOOO0OO0DOODOOOD
goooooboo..cooboooooooooooboo



gbooooobooooood

(2 000O000DO0OO0..000DO0O0OOODDOO
gbooooboooobooobooooboobooo
31 0000000000000 0ODOoOooOooDo

ooboooon

00 PathTester 00000000000 OOOO
gooooooboooooooooboobOoboooann
500kbps 00O OOO0DOOOOO0OOOOOOOOO

000000000100kbps DOODOOOOOOOO
000000o0o0ooOooooo 100kbpsO0 00000
goobooooooooooooooobooOobooboooo
oooooooooo

oobooboboooooobooobooboooood
gbooooooooooooooocoboooobooooo
gboooooooooobooooooboboOobooooo
0000000000000 000 GINE[B|DODOOO
gooboooooooooooooobooOoooboooo
20000000

02 0000000

Ouwt00000000000000 100kbps OO OO
00o0o0oooooOo 100MbpsO OO0

00000 PathTester 00 iunit 0000000 (O
000-1500160)00000000000000O0
gbooooboooobboooboooooboooooa

oobooboooooooboobooboobooooo
gobooobooboooooobooooobooooobooboooon

oooo0o0ooobO0o0ooooobobooooboobob0oo
00000000000000ooooOoO0D (000 10
00000000 waittime 000 ) 00000000
gboooooooooo

ooooooobobbOoOoobobobOoooobooooo
goooooooboboooooooooobooao
(MbpsR) 000000

do0o000oo00o0ooO0oo00ooOooOooooooo
goboooooooooooooooboooboboooon
0000000000000 D0000 (waittime) OO
oood

O 300waittime 0000000COCOO

ooooooloooooooooooooooooo
0ooo0O0oo0ooO0oo00b00o000o0o0ooOoooon
ooooO0oooO0ooO000O0ooO0O0ooOoooOoooon
goooooooooood

oobooboooooooboobooboobooooo
gooooooooboobooooobooobOooo
(eBW)O0DOOOOOOO (aBW)O 3000000

waini
Calculagion” - .
10.0<MbpsR <100.0 ‘ S
! N N
Ll o
waittime) 1:0<MbpsR =10.0 /waittime, ': .
=10 Calculation .

[ L V'
0.0<MbpsR = 1.0 N
waittime)* . -
Calculagioh

03 waittime 00O DOOOO

0O (sBW)OOOOO0OOODODOOOOOOOOOooODO
99.73% 0000000000 (1)OOoOoOo

aBW —-3.-s BW <eBW <aBW+3-sBW (1)

32 0O00O0OO0OOOOO
ooooooooooooooooooOooooa
oooooooooooooooobooobobooooooo
goooboobobooooobobobboboboon
gooobooboboooboobobobobooboboon
goboboobooboobooboobooooog
gooooobobooooobooboboooboobo
oooooooooooooooobobooooooon
ooooooobooooboooooboooobooooobooo
gboobooog
NTPOOOOOOOOOODODOOOOOOUOODOD
00000000 (0bObob0oO0D)0DoOoOooDOoo
g0o00o0ooO0DO0o0obOoooDoOoD 140000000
go0ooooooos00000DO0OOOobDbOOoOOn
oooooooooooooooobooboooooooo
000000000000 (ave-Timeout) DO O OO OO
O (sta_Timeout) 00000000000 (Timeout) O
000000000DO00ODO0U0DO0O0D (2)0ooo

Timeout = ave_Timeout + 3 - sta_Timeout  (2)

0(2)0000000o00obo0ooooooooo
oooooooooooooooboobobooooooo
goboooboooooooooooooooooon
gooood

4 OJOOOOOO

DoooooooooooooOoO0 PathTester O
000000000000 PathTester 0 00O PathT-
ester UO0ODOOD0OO00O0O0O0OOOODOODODODOO
ooo0oooooooooooooooooo

00000000000 PathTester 0000000
ODO0O00O00 PathTesterDO O OOOO0O0OOO GINE
0000000000000 PathTester DOOOODO
00000000000 000000000 PathTester
goboooboooo



000000 PathTester 00D 000OO00OOOODOO
gboooooboooooooooobooooocobooooo
gboooooooooooooooooOoboobboooo
J00o00o0oooooooO0OD0O0O00000000 iunit
goooooo
41 0O000ODOOOOOOOOOOOOO

010020000000000000000000

01 0000000000000000

iunit | bw(Mbps) | cap(Mbps)
out in | out in| p2| p3

0-15 | 0.0

time info(sec)
total
788 | NA | NA | NA | NA | NA

0-16 | 0.0 | 79.2 | NA | NA | NA | NA | NA
0-17 | 0.1 | 51.2 | 0.1 | 727 | 16 | 36 52
0-18 | 0.1 | 52,5 | 0.1 | 848 | 18 | 36 54
0-19 | 0.1 | 56.6 | 0.1 | 880 | 22| 39 61

0-20 | NA | NA | NA | NA | NA | NA NA
(NA: Not available)
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Cont(Mbps) | BW(Mbps) | Dly(msec) | time(sec)
Out | In ex im ex im | ex | im

ADSL
11241090 |096 | 186 | 169 | 11 2
0.98 | 097 | 17.8 | 16.3 | 11 2
11121091 1089 | 99| 83|11 2
090 | 089 | 97| 7911 2
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Cont(Mbps) | BW(Mbps) | Dly(msec) | time(sec)

Out | In ex im ex im | ex | im
ADSL

11241099099 |20.2|48.01]92| 20

0.98 | 092 | 20.5 | 46.3 | 92 | 21

1112 ]0.89|090 | 11.3 | 875 |92 | 20

0.60 | 0.54 | 11.3 | 849 | 91 | 21
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PC CPU | RAM NIC
Host A | Celeron(500MHz) | 512MB | epro100
Host B | Celeron(500MHz) | 128MB | eprol00
Host C | Celeron(1200MHz) | 256MB €100
Router | Celeron(2.53GHz) | 512MB €100
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Cross Pathload PathTester
(Mbps) | BW(Mbps) | time(sec) | BW | time
0 2.68 344 | 448 | 69.2

0.5 1.83 76.0 | 3.54 | 69.1

1.5 1.84 75.6 | 2.65 | 69.6

3.0 0.87 129.2 | 1.36 | 69.4
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Cont(Mbps) | BW(Mbps) | Dly(msec) | time(sec)
Out | In ex im ex im | ex | im
ADSL

1124098 098|206 |1361|92]| 15
098 | 098 | 17.8 | 13.3 | 92 | 15
1112091 | 088 | 11.3 | 76.7 | 92 | 15
0.89 | 0.89 | 9.7]66.2|92]| 15
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